[ ZHHONE-IBERRER 8%
SHM3ESH
I #R (fM3FE1A~4A)
1 LR FEEL) OREKR (TEH)
(1) MEBELE (B
ZHR W H
THBF1A~48 | siEREHAL | BHE(%)] FMSF1A~48 | fiERZL | BREZE(%)
# = 12, 253 -1, 853 -13. 1 301 -6 -2.0
(2) ERNEORERR (HH)
S[HSFE1A~48 | GIERRAL | EEE(%)| SHM3FE1A~4A | GiERHALE | BREE (%)
BASZ 189 =375 -32.2 30 +0 =+0.0
(> BHEHRBAR) 417 -180 -30. 2 8 -8 -50.0
BEESE 270 +63 +30. 4 3 +3 -
L1 ¥=1 28 +1 +3.7 1 +0 +0.0
el WA &1 175 -26 -12.9 2 +1 +100. 0
BEESE 1,998 =501 -20.0 41 -2 4.7
Bmh 5y 347 =10 -16. 8 2 -11 -84. 6
EEhsK 519 =214 -29.2 6 -9 -60.0
143658 88 -3 -3.3 0 +0 +0.0
1SFTREERR 11 +9|  +450.0
e 1, 885 -1 -0.1 53 ) -3.6
& &t 6, 099 -1,126 -15.6 149 -11 -6.9
<ERLEREHFHOEEE (1A~4A8) >
+60
B 7
40 u
+20 + |
0 [’%% - 1??4 _ |_Ln ’_% %
BAZ ﬁig%)k BEEE B o BEEE |#Smol | EERSL | MR FEIREEER VEIR]
oSz % 30 16 0 1 1 43 13 15 2 55
BEF3E 30 8 3 1 2 41 6 11 53
2 ZEEH (NBEH) OREKRE (BBH)
THBFE1A~48 | siEFHILE | $8HE (%)
% T 2 +2 -
E & 5 +0 +0.0
B & 152 -15 -9.0
2 % 159 -13 -1.6




I HETRIOLFERLERR (FFNI3F1A~4A)

SHLERILE

BT % R | e BEt |BAE BENS | BEEE f-h(E| BREE| BaRLL| ELR5L AElE| BE | ML | BB
ERHT 9 -5 5 1 3 1
18 B HT -1 0
Finn ey BT 2 +1 2 1 1
FE I3 T 2 =0 0
FEAREMT 1 +1 0
EEET -2 0
BRRHET 19 +b 9 5 3 1
S AH 3 -8 1 1
5 T 6 -3 2 1 1 1
=L 11 -8 6 1 1 4
23=L 8 -2 2 1 1
FHALLLET +0 0
it SF T 6 +3 1 1
FRHET 2 +1 2 2
#EHET 11 +9 9 1 3 5
#BAHET 3 -2 0
BRETHET 4 +3 0
7 Al AT BT 1 +0 0
SR A P ET 1 -1 1 1
7| $EB T -1 0
3t Ly ies T -1 0
= ARHET +0 0
PGl 1 +1 0
L1 s BT -1 0
L&A -2 0
EEET 8 +2 2 2
R T -1 0
SR EAHT +0 0
AR ARHT 3 +1 3 3
FRF0ET -1 0
RERHET 4, -10 1 1
L] 13| +10 5 4 1
{0 == A< BT 6 -3 4 4
EL 4 +2 1 1
R A HT 2 +2 2 1 1
KILHT 2 +1 1 1
(N +0 0
INEET +0 0
SRHET 1 -1 0
H O i T 5 -1 2 2
L) 6 +4 3 3
RIRHET 14 +3[ 10 2 1 5 1 2
A& LLIBT 11 +2 5 2 1 3
ER:L 5 +2 3 1 2
Yl R T 3 +2 3 1 2
KLY 1 -5 0
sl Fr T 3 +3 1 1 1
HomHT 1 -1 0
ZRKHET 2] =0 0
XEfT 1 +3 4 2 1 1 1
fXET 2 -5 1 1
ZARFTHT ) +4 3 2 1




o]
df

55 & & 05

B % Lo S LS RPN PERgos Ee | BEE| 1 (s BEEE| sansu| Eresn| FEIE | A | MR waR
=R 1 -3 4 1 1 2
= AR ANET 5 +0 1 1
=iy R AT 3 +0 1 1
= AR R 3 -8 1 1
= AR ET 9 +1 1 2 2 5
12EHT 3 +3 1 1
FREAHET 5 +1 2 2
T HHET 10 +0 5 1 1 1 2
A FHHET -3 0
F R ET 2 -5 0
IEHTET 2 +1 0
B i AT 3 -1 2 1 1
AR L ET 3 +2 3 1 1 1
A A BT 3 +1 1 1
JE N ET 4 +4 3 1 2
I BT +0 0
=T 1 +0 1 1 1
P FHET 19 -3 12 3 2 1 6
RET -2 0
BE /N1 ET 6 +1 2 1 1
JNJIET 8 +4 4 2 1 1
EE) +0 0
& 4EET +0| 0
ARFHET 1 +0 1 1 1
R ET 6 +3 2 2

XifEt £ R ORFLEFIRLGHEENHYFET

REIARREER & (X, BEEOA— L, NAXFLBEZAVT, JET S LELGLEE
BEIILT, BELEAEARYAFESALGELT, BEPFYryah—
FEHA<LEBILETT,

STOP ! #5¥%:Fk BHRER

O00-000

SMS/MMS
4H 0:00

AEBE CKRARfTE
EEBEZSD) K

BesRELTEY X
3. AEERZEIHS,
ENFREICBITLE

RZEEERA—IDH

- \" b FE— RS>

FEIRTERR

IR ) A SRR

FEEEREE

(ritiees )
2870 2 R 2 M
AL RIS T
B S E K
BRI

R mEsI4 B
Xy o IdILihEE
IHiRiz 4 B

EHLDXREH-

Tryah— YARE

\% Dth )




O— KRV EOFYAILESO— FERD
KUSIZDODVWTELESES

U—RRILE fEONIERE FERERD

mE =
I HBRZEFBASEBOOHRESS (SN3FE1A~4A)
N e REER N e RIE

TR | KRS T8 [ 6 TE | KRR Tas 66
BT 7 +1 7 B o HET 2 +2 2
¥5 B BT 2 +0 2 L) 2 +1 2
i T 4 +3 4 RYRET 9 -4 9
=) 3 -1 3 F&E LLIBT 5 -3 4
FEEZEHET 0 +0 BRE 2 +1 2
JEERET 0 +0 AT 0 -1
BRKRHET 8 -1 8 KLLET 2 +0 2
4 BT 5 +0 5 s EFET 0 -1
5 thET 2 -1 2 HERHET 2 -1 2
) 11 +9 1 10 ZARKHET 0 -5
(3= 6 +3 6 E3E ) 1 +0 1
FHILET 1 -1 1 HRET 0 -1
it ET 2 -1 2 ZARKEFRET 0 -3
F+ R HET 0 +0 = AR ET 3 -3 3
FrHEAET 2 +2 1 1 =R A AT 2 -1 2
#EARET 1 +1 1 =R ERET 2 +1 2
BETET 0 -1 =R 5 +3 5
765! AT ET 0 +0 = AR ET 6 -6 6
BRI A BT 1 +1 1 fBEHT 4 +0 3
71| SERET 0 +0 FRENET 4 +2 3
3t 1Ly BT 3 +1 1 2 o FHET 3 +2 3
= A HT 1 +1 1 A FHET 1 +1 1
K E BT 1 +0 1 FOSRAET 5 +1 5
1Ly ET 0 +0 HERITET 0 -4
L %&HET 4 +3 1 3 SRHET 2 +1 2
EEET 0 +0 R IET BT 0 -1
AT 2 -1 2 WA ABT 3 -1 3
SRBAHET 1 +1 1 & R ET 2 +0 2
BH ;A AET 2 +1 2 )1 SHET 1 +0 1
AR FNET 1 +0 1 L 1 +0 1
RERHET 2 +1 2 PR FFET 6 -6 6
FRHT 3 +1 3 BRAET 0 -2
{ENSEAET 1 +0 1 BE/IN) | ET 0 +0
SR HET 3 +1 3 IN1|ET 2 -1 2
AT 1 +0 1 Bp AT 2 +2 2
RILHET 0 +0 FoEET 0 +0
£/ KRET 0 -1 AFEHET 0 -1
INZET 0 -3 BRFFAT 0 -3
SR ET 0 -1

OfLEbhbtEEr TEHRATRZER (BFF 71-2219 FA4VILAY)




